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HWIH :20214E8H1H (H) 2 TEEBKRE Kk (50m)
No.5 &F 50m N2 754 B4 LL— R R KemEi 3803
L 911 >
B & £ Fr & PE KK B FH
1 K B B:W /NG 3/ 8 40.78 ( 0.83)
No.5 &F 50m /A2 754 BA LL—R iR B 3.0
L 12-14:% >
B K 44 T B PE KK B R
1 A o7 VO2MAX H2 4/5 31. 47 ( 0.71)
2 HH TR VO2MAX 1 4/ 6 32. 44 ( 0.71)
3 HEAL K A+S-T h2 4/ 3 32.74 ( 0.65)
4 FR mE B--W Ml 4/ 8 36. 64 ( 0.71)
b thik ik A+S-T NG 3/ 7 38.58 ( 0.75)
6 FEIH £ A-S-T N6 2/ T 47. 01 ( 0.70)
No.5 &F 50m /A2 754 AA LL—R iRk REEE 3072
L 15-17g% >
B & £ T & PHE KK B [
17 PRk A+S-T F3 4/ 4 31.72 ( 0.67)
No.5 ZF 50m /A2 754 B A L L— R R AREE29.99
L 18-24 >
B K 4 ir & PE KK B
1 WO e VO2MAX —#% 4/ 2 33. 89 ( 0.68)
No.5 &F 50m /N3 754 B AL L—R R S8 31.67
£ 25-29m% >
B & £ T & FE KK B FE
1 Ay JHF TTD —f& 4/ 7 33.99 ( 0.67)
No.5 &+ 50m /N2 754 A4 L L—R R KEmE 33,60
& 45-495% >
B & £ T & PHE KK B [
1 FARE  HESE *7 b —f% 3/ 2 41. 43 ( 0.86)
No.5 ZF 50m /X2 754 B A L L— R R AR 35.82
& 50-541E >
B K 4 ir & PE KK B
1 /MK 5LF F— LN —% 3/ 3 40. 93 ( 0.70)
2 JLE A ruaruatTiE —fix 3/ 4 43.53 ( 0.81)
3 /NE BT VO2MAX —#% 2/8 47.40 ( 0.88)
No.5 &+ 50m /N2 754 A4 L L—RREE KEmE  34.65
& 55-59% >
B & £ Fr & PE KK B FH
1 /NLNERER AHa AR —  —f 3/5 37. 64 ( 0.87)
2 mfE BiL A=A L —f% 2/ 5 37.70 ( 0.78)
3 KiFEWD A —fL= () —fx 1/ 5 46. 57 ( 0.79)
4 KAl R KL Z SB% —f& 2/ 3 46. 68 ( 0.77)
No.5 ZF 50m /N2 754 B A LL—RRE KwEE 40.00
£ 60-645% >
B & £ Fr & PHE KK B [
1 ™M =7 AHa AR — —fE 4/ 9 37 (}; ( 0.72)
==
2 PSRRI SE TUT A —fi% 3/ 6 41 00 ( 0.79)
H7JAE:: 8H6H 15:19
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No.5 ZF 50m /A2 754 B AL L— R R PN 40.00
£ 60-64m >
B K 4 Fr & PE KK B FH
3 )l hsd b 7 NV —i 2/ 6 42. 47 ( 0.88)
No.5 &F 50m /N2 754 BALL—R R KEH 41.75
£ 65-695 >
B K 44 T B PE KK B R
1 AR 7 TUT A — 3/ 9 44. 65 ( 0.98)
2 DK 5 P RH— —fx 1/ 7 49. 26 ( 0.87)
3 FHEF #hiT FAFA L — 2/ 2 54. 67 ( 0.97)
4 K ETF —fL= () —x 1/ 6 1:04.33 ( 0.97)
No.5 Z&F 50m /A2 2754 B A LL—R R A£G 46.33
L 10-74: >
B K 44 T B PE KK B FH
1 &H BHF VO2MAX —#% 1/ 3 1:03.72 ( 0.84)
2 /NG T —fL=(—H) —m 1/ 8 1:08. 63 ( 1.50)
3 FEMAS AT —fLE () w1/ 2 1:28. 42 ( 1.10)
H7JAE:: 8H6H 15:19



